
Algebra 1 Week 2 
 

Dear Parent/Guardian, 

 

During Week 2, we will review and support mastery of the Algebra 1 standards: Reasoning with equations and 

Inequalities.  Your child will work towards building on justifications for solving equations.  Additionally, 

students will create and solve equations that represent real-world situations.  There are nine topics in this 

section.  It is suggested you complete two topics per day; on day five only one topic is listed.  A proposed 

schedule is included. 

 

Additionally, students can access both Math Nation and the Pearson textbook through ClassLink. Both sites 

offer instructional support including video lessons, practice quizzes and more.  

 

We also suggest that students have an experience with math each day.  Practicing at home will make a HUGE 

difference in your child’s school success!  Make math part of your everyday routine.  Choose online sites that 

match your child’s interests.  Online math games, when played repeatedly, can encourage strategic 

mathematical thinking, help develop computational fluency, and deepen their understanding of numbers. 

 

Links for additional resources to support students at home are listed below: 

https://www.brainpop.com/games/sortifyangles/ 

https://www.hoodamath.com/games/highschool.html 

https://www.khanacademy.org/resources/teacher-essentials 

https://www.mangahigh.com/en-us/games/wrecksfactor 

http://www.xpmath.com/forums/arcade.php?do=play&gameid=115 

https://www.purplemath.com/modules/ 

 

 

Week 2 At A Glance 
Day 1 Section 2 – Equations and Inequalities 

Topic 1: Equations: True or False? 
Topic 2: Identifying Properties When Solving Equations 

Day 2 Section 2 - Equations and Inequalities 
Topic 3: Solving Equations 
Topic 4: Solving Equations Using the Zero Product Property 

Day 3 Section 2 - Equations and Inequalities 
Topic 5: Solving Inequalities – Part 1 
Topic 6: Solving Inequalities – Part 2 

Day 4 Section 2 - Equations and Inequalities 
Topic 7: Solving Compound Inequalities 
Topic 8: Rearranging Formulas 

Day 5 Section 2 - Equations and Inequalities 
Topic 9: Solution Sets to Equations with Two Variables 
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Section 2 ² Topic 1  
Equations: True or False? 

 1. 
C

o
nsid

er the sta
tem

ent: 4
−

3
+

5
=

−
6

+
8

+
4. This is a

 m
a

them
a

tica
lly 

co
rrect sentence. 

 Is the sentence true or fa
lse? Exp

la
in ho

w
 you know

. 
 

   2. 
D

eterm
ine if the sentence is true.  Select a

ll tha
t a

p
p

ly.  
 �

 2
+

5
=

19
−

12 
�

 
45 +

15
=

2
−

1
−

1 

�
  5

−
4

−
3

−
2

−
 1

=
30

−
34

−
1 

�
 2 (𝑥𝑥

+
8 )

=
2𝑥𝑥

−
8 

�
 2 (x

+
5 )−

4x
=

3 (x
−

2 )−
5x

+
16 

  
3. 

D
eterm

ine w
hether the fo

llo
w

ing num
b

er sentences a
re TRUE or FA

LSE. 
Justify your a

nsw
er. 

Pa
rt A

: 7
+

5
+

3
+

𝑥𝑥
=

𝑥𝑥
+

3
+

12 
 

 

Pa
rt B: 12 −

58 −
79

=
79 −

58 −
12  

Pa
rt C

: 6
3

+
5

2
=

 18
+

5
2 

 
 

Pa
rt D

: (2
+

2) 2
=

2
2∙2

2 

4. 
Fo

r the eq
ua

tion, 𝑥𝑥
−

7
=

24, ca
n a

 va
lue b

e sub
stituted

 fo
r 𝑥𝑥

 to
 m

a
ke the 

eq
ua

tion a
 true num

b
er sentence? H

o
w

 m
a

ny va
lues co

uld
 b

e 
sub

stituted
 for 𝑥𝑥

 a
nd

 ha
ve a

 true num
b

er sentence? 
            

5. 
C

o
nsid

er 𝑥𝑥
+

4
=

𝑥𝑥
+

8. W
ha

t va
lues could

 b
e sub

stituted
 for 𝑥𝑥 to m

a
ke this 

a
 true num

b
er sentence? Exp

la
in ho

w
 you kno

w
. 

       
   

  
6. 

D
eterm

ine w
ha

t va
lue(s) fo

r the va
ria

b
le w

ould
 m

a
ke ea

ch a
lg

eb
ra

ic 
eq

ua
tion a

 true num
b

er sentence.  

  
𝑚𝑚

2
=

81 is true for  
 

 
____________________. 

  
6𝑝𝑝

=
3𝑝𝑝

+
2𝑝𝑝

+
𝑝𝑝 is true for  

 
____________________. 

  
𝑟𝑟

+
74

=
𝑟𝑟

−
74 is true for  

 
____________________. 
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7. 
W

hich o
f the follo

w
ing

 ha
s the correct solutio

n g
iven fo

r 𝑥𝑥? C
heck a

ll tha
t 

a
p

p
ly. 

 

�
 

3𝑥𝑥
−

3
=

24Ǣ𝑥𝑥
=

9 

�
 

4
+

𝑥𝑥
+

5
−

𝑥𝑥
=

20Ǣ𝑥𝑥
=

3 

�
 

௫ା
5

7
=

5Ǣ𝑥𝑥
=

30 

�
 

9
=

2𝑥𝑥
−

3Ǣ𝑥𝑥
=

6 

�
 

50
=

13 𝑥𝑥
+

5Ǣ𝑥𝑥
=

48 

 
                       

Section 2 ² Topic 2 
,GentiI\inJ 3roperties :

Ken SolYinJ Equations 
 1. 

The follo
w

ing
 p

a
irs o

f eq
ua

tio
ns a

re eq
uiva

lent. D
escrib

e the o
p

era
tion 

tha
t o

ccurred
 in the seco

nd
 eq

ua
tion. 

 
Pa

rt A
: 3

+
9

=
12 a

nd
 3

+
9

−
5

=
12

−
5 

    Pa
rt B: 𝑥𝑥

−
4

=
7 a

nd
 𝑥𝑥

−
4

+
4

=
7

+
4 

    Pa
rt C

: 2(6)
=

12 a
nd

 2(଺)
2

=
122  

    Pa
rt D

: ௫2  =
5 a

nd
 2

௫2 ڄ  =
2

 5ڄ
   2. 

C
o

m
p

lete the fo
llo

w
ing ta

b
le w

ith the p
ro

p
erties used

 to solve
 

4 (𝑥𝑥
+

3 )
=

20. 
 

StateP
ents 

3rooI 

4 (𝑥𝑥
+

3 )
=

20 
G

iven 

4𝑥𝑥
+

12
=

20 
 

4𝑥𝑥
=

8 
 

𝑥𝑥
=

2 
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3. 
C

o
m

p
lete the fo

llo
w

ing ta
b

le w
ith the m

a
them

a
tica

l sta
tem

ents tha
t 

co
rresp

o
nd

 to
 the p

roo
fs used

 to
 solve 4 (௫ି

3 )
3

=
20. 

  
StateP

ents 
3rooI 

4 (𝑥𝑥
−

3 )
3

=
20 

G
iven 

 
M

ultip
lica

tion Prop
erty o

f Eq
ua

lity 

 
D

istrib
utive Prop

erty 

 
A

d
d

ition Pro
p

erty o
f Eq

ua
lity 

 
D

ivision Prop
erty o

f Eq
ua

lity 

  4. 
C

o
nsid

er the eq
ua

tions 5𝑥𝑥
+

10
=

30 a
nd

 5 (𝑥𝑥
+

10 )
=

30.   
 D

o
 they ha

ve the sa
m

e solutio
n?  W

hy or w
hy no

t? 
      5. 

C
o

nsid
er the eq

ua
tions 3𝑥𝑥

+
2

=
14 a

nd
 2

+
3𝑥𝑥

=
14.   

 D
o

 they ha
ve the sa

m
e solutio

n?  W
hy or w

hy no
t? 

 
     6. 

C
o

nsid
er the eq

ua
tion 3 (𝑥𝑥

+
2 )+

3𝑥𝑥
=

36. 
 W

ithout solving
, na

m
e a

ll the p
ro

p
erties tha

t w
o

uld
 b

e used
 to solve the 

eq
ua

tion. 
        

7. 
C

o
nsid

er the eq
ua

tion  ௫3 +
7

=
13. 

 Pa
rt A

: W
rite a

n eq
uiva

lent eq
ua

tio
n using the m

ultip
lica

tion p
rop

erty o
f 

eq
ua

lity. 
   

 Pa
rt B: W

ha
t p

rop
erties w

ill you use next to solve the eq
ua

tion? 
 

 
   

8. 
Solve the follo

w
ing eq

ua
tio

n. Justify ea
ch step

. 
 

0Ǥ2𝑥𝑥
+

3Ǥ1
−

2Ǥ1𝑥𝑥
=

0Ǥ3 (𝑥𝑥
−

5 )+
0Ǥ2 

     9. 
W

rite a
n eq

ua
tion in w

hich the d
istrib

utive p
rop

erty, co
m

m
uta

tive 
p

ro
p

erty, a
sso

cia
tive p

rop
erty, a

d
d

itio
n o

r sub
tra

ction p
rop

erty o
f 

eq
ua

lity, a
nd

 m
ultip

lica
tion o

r d
ivisio

n p
ro

p
erty o

f eq
ua

lity ca
n b

e used
 to

 
find

 the so
lution. 

  
 

   
10. Solve the eq

ua
tio

n tha
t yo

u w
ro

te in Q
uestio

n 9, justifying ea
ch step

. 
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Section 2 ² Topic � 
SolYinJ Equations 

 1. 
Solve the eq

ua
tio

n for 𝑥𝑥. Fo
r ea

ch step
, id

entify the p
ro

p
erty used

 to
 

co
nvert the eq

ua
tio

n. 
 Pa

rt A
: 18

=
6(2𝑥𝑥 Ȃ 8)  

      Pa
rt B: 8

+
3ܾ

=
−

13 
      

      Pa
rt C

:  ୶ି
34

=
12 

    

Pa
rt D

: 14
+

3݊
=

8݊
−

3(݊
−

4) 
            Pa

rt E:  22𝑥𝑥
+

11
=

4𝑥𝑥
−

7 
  

2. 
D

uring sum
m

er va
ca

tion, you cha
rg

e p
eo

p
le ̈́8 p

er hour fo
r sw

im
m

ing 
lessons a

nd
 a

 ̈́20 reg
istra

tion fee. If yo
u m

a
ke ̈́52 o

ne d
a

y, ho
w

 m
a

ny 
hours d

id
 you sp

end
 tea

ching lesso
ns? 

  
           3. 

La
co

ste M
id

d
le Sc

hool surveyed
 its stud

ent p
op

ula
tion a

b
out their fa

vorite 
m

o
b

ile a
p

p
s. The 786 stud

ents w
ho listed

 Fa
ceb

oo
k a

s their fa
vo

rite a
p

p
 

rep
resented

 32 few
er stud

ents tha
n tw

o
 tim

es the num
b

er o
f stud

ents w
ho

 
listed

 Insta
gra

m
 a

s their fa
vo

rite a
p

p
. H

o
w

 m
a

ny stud
ents listed

 Insta
gra

m
 

a
s their fa

vo
rite a

p
p

? 
        4. 

The 2015 senior cla
ss fro

m
 Pum

a
 H

igh Scho
ol ra

ised
 fund

s fo
r a

n end
 o

f the 
yea

r p
a

rty a
t C

lub
 Sizzle. It co

sts ̈́4ǡ000 to
 rent out C

lub
 Sizzle p

lus ̈́20 p
er 

stud
ent for foo

d
 a

nd
 d

rinks. If the senior cla
ss ra

ised
 ̈́11ǡ000, ho

w
 m

a
ny 

stud
ents ca

n a
ttend

 the end
 o

f yea
r p

a
rty? 

         5. 
A

lex sells ca
rs a

t Keith Pa
lm

er Fo
rd

.  H
e ea

rns ̈́400 a
 w

eek p
lus ̈́150 p

er 
ca

r he sells. If he ea
rned

 ̈́1450 la
st w

eek, ho
w

 m
a

ny ca
rs d

id
 he sell? 
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Section 2� Topic � 
SolYinJ Equations 8sinJ tKe =ero 3roGuct 3ropert\ 

 1. 
Solve the follo

w
ing eq

ua
tio

n using the zero p
rod

uct p
rop

erty. 
 (𝑥𝑥

+
8 )(𝑥𝑥

+
11 )

=
0                

 

 

  
2. 

Solve the follo
w

ing eq
ua

tio
n using the zero p

rod
uct p

rop
erty. 

 (𝑥𝑥
+

9 )(4𝑥𝑥
−

1 )
=

0  
  

  

 
3. 

Solve the follo
w

ing eq
ua

tio
n using the zero p

rod
uct p

rop
erty. 

 5(−
ݒ

−
5)∙3 ݒ)

−
8 ) =

 0 
 

   4. 
M

a
nny w

a
s g

iven the eq
ua

tion (𝑥𝑥
+

2 )(𝑥𝑥
−

17 )
=

0 a
nd

 a
sked

 to
 find

 the 
zero

s. The solutio
ns he ca

m
e up

 w
ith w

ere 𝑥𝑥
=

2 a
nd

 𝑥𝑥
=

−
17.  

 A
re his solutio

ns correct? Justify your a
nsw

er. 
     

5. 
W

hich eq
ua

tions ha
ve the sa

m
e p

a
ir o

f so
lutions? Select a

ll tha
t a

p
p

ly.  
 
�

 (𝑥𝑥
+

6 )(𝑥𝑥
−

6 )
=

0 
�

 (𝑥𝑥
+

6 )(𝑥𝑥
+

6 )
=

0 
�

 (𝑥𝑥
−

6 )(𝑥𝑥
−

6 )
=

0 
�

 (2𝑥𝑥
+

12 )(2𝑥𝑥
−

12 )
=

0 
�

 (2𝑥𝑥
−

12 )(𝑥𝑥
−

12 )
=

0 
�

 (𝑥𝑥
+

12 )(𝑥𝑥
−

12 )
=

0 
�

 (𝑥𝑥
+

12 )(𝑥𝑥
−

6 )
=

0 

 6. 
Ted

 a
nd

 M
a

g
g

ie solved
 the follo

w
ing

 eq
ua

tion,  (3𝑥𝑥
−

2 )(𝑥𝑥
+

5 )
=

0.  Their 
w

o
rk is sho

w
n b

elo
w

. 

                Ted
 

 
 

 
        M

a
g

g
ie 

      (3𝑥𝑥
−

2 )(𝑥𝑥
+

5 )
=

0  
 

(3𝑥𝑥
−

2 )(𝑥𝑥
+

5 )
=

0 

       3𝑥𝑥
−

2
=

𝑟𝑟   𝑥𝑥݋    0
+

5
=

0 
 

3𝑥𝑥
−

2
=

𝑟𝑟   𝑥𝑥݋    0
+

5
=

0 

       3𝑥𝑥
=

𝑟𝑟     𝑥𝑥݋    2
=

−
5 

 
3𝑥𝑥

=
−

𝑟𝑟        𝑥𝑥݋    2
=

5 

       𝑥𝑥
=

23 𝑟𝑟    𝑥𝑥݋    
=

−
5              

𝑥𝑥
=

−
23 𝑟𝑟        𝑥𝑥݋    

=
5 

W
ho is co

rrect?  C
orrect the m

ista
ke in the inco

rrect w
o

rk. 

 

        
 



24
Section 2: Equations and Inequalities

Section 2 ² Topic � 
SolYinJ ,nequalities ² 3art 1 

 1. 
M

a
tch the ineq

ua
lities b

elo
w

 w
ith o

ne o
f the sta

tem
ents in the ta

b
le. N

o
t 

a
ll ineq

ua
lities w

ill b
e used

. 

𝑥𝑥
൑

35 
 

𝑥𝑥
൑

12 
 

𝑥𝑥
൐

3 

 
 

 
 

 

𝑥𝑥
൑

10 
 

𝑥𝑥
൐

32 
 

𝑥𝑥
൒

10 

 
 

 
 

 

𝑥𝑥
൑

5 
 

𝑥𝑥
൒

35 
 

𝑥𝑥
൒

3 

 
 

 
 

 

𝑥𝑥
൒

32 
 

𝑥𝑥
൒

12 
 

𝑥𝑥
൏

10 

 
 

 
 

 

𝑥𝑥
൏

40 
 

𝑥𝑥
൑

40 
 

𝑥𝑥
൒

5 

 

StateP
ent 

,nequalit\ 

A
 stud

ent w
ill stud

y G
erm

a
n for a

t lea
st 3 yea

rs. 
 

A
ll em

p
lo

yees w
o

rk less tha
n 40 hours. 

 

There a
re a

t lea
st 35 p

eop
le in the em

erg
ency 

roo
m

.       

 

The ca
rton hold

s a
t m

o
st 12 eg

g
s. 

 

There a
re no m

ore tha
n 10 g

a
llons o

f ga
s in the 

ta
nk.        

 

There a
re few

er tha
n 10 ya

rd
s o

f fa
b

ric left. 
 

The tem
p

era
ture is a

b
ove 32Ԭ

.  
 

Yea
rs o

f exp
erience ca

nno
t b

e less tha
n 5 yea

rs.  
 

 

2. 
C

o
nsid

er the d
ia

g
ra

m
s b

elo
w

.  

 
 W

rite the ineq
ua

lity for ea
ch g

ra
p

h sho
w

n a
b

ove: 
 G

ra
p

h 1:  
G

ra
p

h 2:    

 G
ra

p
h 3:  

G
ra

p
h 4:  
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3
. 

Th
e

 La
tin

o
 R

a
m

s a
t E

n
g

le
w

o
o

d
 H

ig
h

 Sc
h

o
o

l a
re

 se
e

kin
g

 to
 ra

ise
 a

t le
a

st 

̈́750
 in

 a
 fu

n
d

ra
ise

r to
 p

a
y
 fo

r th
e

ir e
n

d
-o

f-th
e

 y
e

a
r fie

ld
 trip

 to
 Isla

n
d

s o
f 

A
d

v
e

n
tu

re
s. 

 Pa
rt A

: W
rite

 a
n

 in
e

q
u

a
lity

 to
 re

p
re

se
n

t th
is situ

a
tio

n
. 

  Pa
rt B: G

ra
p

h
 th

e
 in

e
q

u
a

lity
 o

n
 a

 n
u

m
b

e
r lin

e
. 

 

                                                                          

 
 

 4
. 

Fin
d

 th
e

 so
lu

tio
n

 se
t to

 e
a

c
h

 in
e

q
u

a
lity

. E
xp

re
ss th

e
 so

lu
tio

n
 in

 se
t n

o
ta

tio
n

. 

 Pa
rt A

: 6𝑚𝑚
+

2
൏

5𝑚𝑚
−

4
    

     
 

 

Pa
rt B: ௔5 +

8
൑

13
 

   

Pa
rt C

: −
3 (𝑥𝑥

−
7 )

൐
−

27  
     

 
 

Pa
rt D

: 8(𝑝𝑝
−

6)
൐

4(𝑝𝑝
−

4) 
  

 

Section 2 ² Topic � 
SolYinJ ,nequalities ² 3art 2 

 1
. 

In
 o

rd
e

r fo
r B

ra
d

y
 to

 e
a

rn
 a

 B
 in

 h
is b

io
lo

g
y
 c

o
u

rse
, h

is te
st sc

o
re

s m
u

st 

a
v

e
ra

g
e

 a
t le

a
st 80Ψ

. O
n

 th
e

 first 5
 te

sts, h
e

 h
a

s a
n

 a
v

e
ra

g
e

 o
f 77Ψ

Ǥ  Th
e

re
 

is o
n

e
 te

st re
m

a
in

in
g

 in
 th

e
 c

o
u

rse
. W

h
a

t is th
e

 m
in

im
u

m
 sc

o
re

 B
ra

d
y
 

n
e

e
d

s to
 e

a
rn

 o
n

 th
e

 la
st te

st to
 re

c
e

iv
e

 a
 B

 in
 th

e
 c

la
ss?

    
 

   2
. 

Sh
a

w
n

 h
a

s b
e

e
n

 h
ire

d
 a

s a
 sa

le
s a

sso
c

ia
te

 a
t th

e
 H

o
rizo

n
 M

o
b

ile
 P

h
o

n
e

 
C

o
m

p
a

n
y
. H

e
 h

a
s tw

o
 sa

la
ry

 o
p

tio
n

s. H
e

 c
a

n
 e

ith
e

r re
c

e
iv

e
 a

 fixe
d

 sa
la

ry
 

o
f ̈́750Ǥ00

 p
e

r w
e

e
k o

r a
 sa

la
ry

 o
f ̈́400Ǥ00

 p
e

r w
e

e
k p

lu
s a

n
 8Ψ

 c
o

m
m

issio
n

 
o

f h
is w

e
e

kly
 sa

le
s. W

h
ic

h
 so

lu
tio

n
 se

t a
m

o
n

g
 th

e
 o

p
tio

n
s b

e
lo

w
 re

p
re

se
n

ts 
th

e
 d

o
lla

r a
m

o
u

n
t o

f sa
le

s th
a

t h
e

 m
u

st g
e

n
e

ra
te

 e
a

c
h

 w
e

e
k in

 o
rd

e
r fo

r 
th

e
 o

p
tio

n
 w

ith
 c

o
m

m
issio

n
 to

 b
e

 th
e

 b
e

tte
r c

h
o

ic
e

?
   

 A
 

ሼݏȁݏ ൐
 ̈́810Ǥ00ሽ   

B
 

ሼݏȁݏ ൐
 ̈́1150Ǥ00ሽ  

C
 

ሼݏȁݏ ൐
 ̈́4ǡ375Ǥ00ሽ  

D
 

ሼݏȁݏ ൐
 ̈́9ǡ375Ǥ00ሽ 

 3
. 

In
 G

e
o

To
w

n
, th

e
re

 a
re

 210
 te

e
n

a
g

e
rs th

a
t o

w
n

 a
 ta

b
le

t. Th
is is a

t le
a

st 45  o
f 

a
ll te

e
n

a
g

e
rs th

a
t liv

e
 in

 G
e

o
To

w
n

. W
h

a
t is th

e
 m

a
xim

u
m

 n
u

m
b

e
r o

f 

te
e

n
a

g
e

rs w
h

o
 liv

e
 in

 G
e

o
To

w
n

?
  

     
 



26
Section 2: Equations and Inequalities

4. 
M

s. A
che is p

a
id

 ̈́1ǡ250 p
er w

eek b
ut is fined

 ̈́100 ea
ch d

a
y she is la

te to
 

w
o

rk. M
s. A

che w
a

nts to
 m

a
ke a

t lea
st ̈́3ǡ000 over the next three w

eeks so
 

she ca
n ta

ke a
 va

ca
tio

n.  
 O

ver the next three w
eeks, w

ha
t is the m

a
xim

um
 num

b
er o

f d
a

ys she ca
n 

b
e la

te to w
o

rk a
nd

 still rea
ch her goa

l o
f m

a
king

 a
t lea

st ̈́3ǡ000? 
      

 5. 
The H

o
t Sum

m
er Fa

ir is co
m

ing to to
w

n! A
d

m
issio

n to
 the fa

ir co
sts ̈́12Ǥ99 

a
nd

 ea
ch rid

e co
sts ̈́1Ǥ75. You ha

ve ̈́35 to sp
end

 a
t the fa

ir includ
ing

 
a

d
m

issio
n.  

 Pa
rt A

: W
rite a

n ineq
ua

lity tha
t rep

resents this situa
tion. 

      Pa
rt B:  Solve the ineq

ua
lity to

 d
eterm

ine the m
a

xim
um

 num
b

er o
f rid

es 
you ca

n enjoy a
t the H

o
t Sum

m
er Fa

ir. 
 

       

Section 2 ² Topic � 
SolYinJ &

oP
pounG ,nequalities 

 1. 
M

a
tch the co

m
p

ound
 ineq

ua
lities b

elo
w

 w
ith o

ne o
f the sta

tem
ents in the 

ta
b

le. N
o

t a
ll ineq

ua
lities w

ill b
e used

. 

−
42

൏
𝑥𝑥

൏
102 

 
20

൑
𝑥𝑥

൏
32 

 
𝑥𝑥

൐
0 ܽ݊݀ 𝑥𝑥

൑
10 

 
 

 
 

 

𝑥𝑥
൏

𝑟𝑟 𝑥𝑥݋ 25
൒

62 
 

16
൑

𝑥𝑥
൑

20 
 

𝑥𝑥
൏

54 ܽ݊݀ 𝑥𝑥
൒

72 

 
 

 
 

 

𝑥𝑥
൏

𝑟𝑟 𝑥𝑥݋ 54
൒

72 
 

𝑥𝑥
൐

0 ܽ݊݀ 𝑥𝑥
൏

6 
 

𝑥𝑥
൐

𝑟𝑟 𝑥𝑥݋ 85
൏

65 

 
 

 
 

 

16
൏

𝑥𝑥
൏

20 
 

25
൏

𝑥𝑥
൑

62 
 

𝑥𝑥
൐

85 ܽ݊݀ 𝑥𝑥
൏

65 

 
 

 
 

 

𝑥𝑥
൒

𝑟𝑟 𝑥𝑥݋ 20
൏

32 
 

−
42

൑
𝑥𝑥

൑
102 

 
𝑥𝑥

൐
𝑟𝑟 𝑥𝑥݋ 0

൏
6 

 

A
ll rea

l num
b

ers tha
t a

re less tha
n six b

ut 
m

o
re tha

n 0. 
 

A
ll rea

l num
b

ers b
etw

een −
42 a

nd
 102, 

inclusive. 
 

A
ll p

o
sitive rea

l num
b

ers less tha
n o

r eq
ua

l 
ten. 

 

A
ll stud

ents ea
rning a

b
o

ve 85 o
r b

elo
w

 a
 65 

w
ere a

sked
 to rep

ort to
 the m

ed
ia

 center fo
r 

further instructio
ns.  

 

The exp
ected

 w
eight m

ust b
e grea

ter or 
eq

ua
l to 20 p

o
und

s b
ut less tha

n 32 p
o

und
s.         

Stud
ents und

er 25 o
r seniors a

t o
r a

b
ove 62 

g
et a

 d
iscount. 

 

If tem
p

era
ture is a

t or a
b

ove 72Ԭ
 or b

elo
w

 
54Ԭ

, the sa
m

p
les in the b

iolo
gy la

b
 a

re no
 

long
er useful.  

 

C
oo

kies m
ust b

e b
a

ked
 b

etw
een 16 a

nd
 20 

m
inutes. 

 

 
 



27
Section 2: Equations and Inequalities

2. 
G

ra
p

h 𝑥𝑥
൑

8 ܽ݊݀ 𝑥𝑥
൐

−
1. 

 

 

3. 
G

ra
p

h 𝑥𝑥
൏

−
𝑟𝑟 𝑥𝑥݋ 6

൒
4. 

 

 

4. 
W

rite a
 co

m
p

ound
 ineq

ua
lity fo

r the follo
w

ing
 gra

p
hs. 

 Pa
rt A

:  

 

  

Pa
rt B:  

 

  

5. 
A

m
a

ya
’s test scores in A

lg
eb

ra
 1 a

re 78 a
nd

 91. She ha
s one m

o
re test 

left a
nd

 w
a

nts to ea
rn a

 B fo
r the course, w

hich is fro
m

 80-89 inclusive.  
 Pa

rt A
:  W

rite a
 co

m
p

o
und

 ineq
ua

lity to
 rep

resent the situa
tio

n. 
    

Pa
rt B:  Solve the ineq

ua
lity to

 find
 the ra

ng
e o

f sco
res A

m
a

ya
 ha

s to
 

ea
rn to

 g
et a

 B in A
lg

eb
ra

 1. 
         6. 

U
ncle Sa

m
m

y invests m
oney on sto

cks a
nd

 m
a

kes 7 to
 13 p

ercent o
f the 

invested
 m

oney.  
 C

a
lcula

te the ra
ng

e o
f m

oney Sa
m

m
y w

ill m
a

ke if he invests his next 
p

a
ycheck o

f ̈́2ǡ300Ǥ 
       7. 

Solve a
nd

 g
ra

p
h the follo

w
ing

 co
m

p
ound

 ineq
ua

lities. 
 Pa

rt A
:  7

൑
5𝑥𝑥

+
2

൏
22 

 
     

 
 Pa

rt B:  −
4𝑝𝑝

൒
𝑟𝑟 8݋ 12

−
2𝑝𝑝

൏
12 
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8. 
A

n
 In

d
y c

a
r d

riv
e

r h
a

s to
 b

e
 a

 c
e

rta
in

 h
e

ig
h

t to
 fit in

to
 th

e
 ra

c
e

c
a

r.  
C

o
n

sid
e

r th
e

 in
e

q
u

a
lity 175

൑
3𝑥𝑥

−
17

൑
187, w

h
e

re
 𝑥𝑥 re

p
re

se
n

ts th
e

 h
e

ig
h

t 
o

f th
e

 d
riv

e
r in

 in
c

h
e

s. 
 W

h
a

t is th
e

 ra
n

g
e

 fo
r th

e
 h

e
ig

h
t o

f a
n

 In
d

y c
a

r d
rive

r?
 

            9. 
P

e
yto

n
 is a

lte
rin

g
 h

e
r n

e
w

 ja
c

ke
t to

 e
n

te
r it in

to
 th

e
 B

o
d

a
c

io
u

s B
e

d
a

zzlin
g

 
C

o
ntest.  In o

rd
er for a

 ga
rm

ent to b
e co

nsid
ered

 “b
ed

a
zzled

”, it m
u

st 
c

o
n

ta
in

 a
 n

u
m

b
e

r o
f g

e
m

s th
a

t fa
ll w

ith
in

 th
e

 ra
n

g
e

 o
f th

e
 fo

llo
w

in
g

 
in

e
q

u
a

lity 132
൑

12 𝑥𝑥
+

7
൑

193. 
 

Fin
d

 th
e

 ra
n

g
e

 o
f g

e
m

s P
e

yto
n

 m
u

st u
se

 to
 e

n
te

r h
e

r ja
c

ke
t in

to
 th

e
 

c
o

n
te

st.   
 

               

Section 2 ² Topic � 
5earranJinJ ForP

ulas 
 1. 

C
o

n
sid

e
r th

e
 fo

llo
w

in
g

 e
q

u
a

tio
n

, ܾ݄
+

݄𝑟𝑟
=

25. 
 Pa

rt A
: So

lv
e

 th
e

 e
q

u
a

tio
n

 fo
r ݄

. 
       Pa

rt B: So
lv

e
 th

e
 e

q
u

a
tio

n
 fo

r 𝑟𝑟. 

   2. 
 C

o
n

sid
e

r th
e

 fo
llo

w
in

g
 e

q
u

a
tio

n
 𝑥𝑥

=
௥ି

௛
௬

. 

 Pa
rt A

: So
lv

e
 th

e
 e

q
u

a
tio

n
 fo

r ݄
. 

      Pa
rt B: So

lv
e

 th
e

 e
q

u
a

tio
n

 fo
r 𝑟𝑟Ǥ 
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3. 
C

ha
rlize a

nd
 C

a
m

ille solved
 the eq

ua
tio

n 4𝑥𝑥
−

ݕ2
=

8 fo
r ݕ.  Their w

o
rk is 

sho
w

n b
elo

w
. 

  
 

     C
ha

rlize 
 

 
          C

a
m

ille 
 

 
    4𝑥𝑥

−
ݕ2

=
8 

 
 

        4𝑥𝑥
−

ݕ2
=

8 

 
 

   −
ݕ2

=
8

+
4𝑥𝑥  

 
      −

ݕ2
=

8
−

4𝑥𝑥 
 

 
 

ݕ     
=

−
4

−
2𝑥𝑥  

 
ݕ        

=
−

4
+

2𝑥𝑥 

 
W

hich stud
ent so

lved
 the eq

ua
tio

n co
rrectly? Justify your a

nsw
er. 

    4. 
Solve the follo

w
ing eq

ua
tion fo

r 𝑝𝑝.  
        2𝑚𝑚

=
௣ି

௤௥
 

   

 5. 
The fo

rm
ula

 to find
 the volum

e o
f a

 sp
here is ܸ

=
43 𝑟𝑟ߨ

3, w
here 𝑟𝑟 is the 

ra
d

ius o
f the sp

here. W
ha

t is the form
ula

 in term
s of 𝑟𝑟? 

       

Section 2 ² Topic � 
Solution Sets to Equations Z

itK TZ
o 9

ariaEles 
 1. 

M
a

rtha
 ca

n co
m

p
lete 15 a

ctivities a
 d

a
y a

t sum
m

er ca
m

p
. She ca

n 
choo

se b
etw

een cra
fts o

r sp
o

rts.  
 Pa

rt A
: D

efine tw
o va

ria
b

les a
nd

 crea
te a

n eq
ua

tio
n to rep

resent the 
situa

tio
n. 

 
V

a
ria

b
le 1:       

 V
a

ria
b

le 2:   
 

Eq
ua

tio
n:  

  
 

Pa
rt B: W

ha
t a

re three p
o

ssib
le co

m
b

ina
tions o

f cra
fts a

nd
 sp

o
rts tha

t 
M

a
rtha

 ca
n d

o
? 

   
Pa

rt C
: C

rea
te a

 gra
p

h tha
t rep

resents the solutions to
 the eq

ua
tion fro

m
 

Pa
rt A

. 

                 
 

 ݕ

𝑥𝑥 
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Pa

rt D
: A

re
 the

 so
lutio

ns to
 the

 g
ra

p
h a

b
o

ve
 d

iscrete
 o

r co
ntinuo

us? 
Exp

la
in yo

ur a
nsw

e
r. 

   2. 
M

a
ha

g
ony’s fa

vorite b
ra

nd
 o

f ice crea
m

 is Ben &
 Jerry’s. This w

eekend
 

w
hile she

 w
a

s d
o

ing
 her g

ro
c

ery sho
p

p
ing

, she
 b

o
ug

ht 9 sing
le

-se
rving

 
co

nta
iners, so

m
e “Tha

t’s M
y Ja

m
”, a

nd
 so

m
e “C

herry G
a

rcia
”. 

 Pa
rt A

: D
e

fine
 tw

o
 va

ria
b

le
s a

nd
 cre

a
te a

n eq
ua

tio
n to

 rep
re

sent the 
situa

tio
n. 

 V
a

ria
b

le 1:        
 

 V
a

ria
b

le 2:         
 Eq

ua
tio

n:   
  Pa

rt B:  W
ha

t a
re three p

o
ssib

le co
m

b
ina

tions o
f “Tha

t’s M
y Ja

m
” a

nd
 

“C
herry G

a
rcia

” co
nta

iners M
a

ha
go

ny m
ight ha

ve p
urcha

sed
? 

  Pa
rt C

: C
rea

te
 a

 g
ra

p
h tha

t re
p

re
se

nts the so
lutio

ns to
 the

 eq
ua

tio
n fro

m
 

Pa
rt A

� 

         

 

 
Pa

rt D
: A

re
 the

 so
lutio

ns to
 the

 g
ra

p
h a

b
o

ve
 d

iscrete
 o

r co
ntinuo

us? 
Exp

la
in yo

ur a
nsw

e
r. 

    

3. 
The

 sum
 o

f tw
o

 num
b

ers is 23.   

Pa
rt A

: D
e

fine
 tw

o
 va

ria
b

le
s a

nd
 cre

a
te a

n eq
ua

tio
n to

 rep
re

sent the 
situa

tio
n. 

 V
a

ria
b

le 1: 
 V

a
ria

b
le 2:   

 Eq
ua

tio
n:   

  Pa
rt B: W

ha
t a

re thre
e

 p
o

ssib
le

 co
m

b
ina

tio
ns o

f num
b

e
rs tha

t w
ill sa

tisfy 
the

 situa
tio

n? 
  

Pa
rt C

: C
rea

te
 a

 g
ra

p
h tha

t re
p

re
se

nts the so
lutio

ns to
 the

 eq
ua

tio
n fro

m
        

Pa
rt A

� 

         

 
 

𝑥𝑥 

 ݕ

𝑥𝑥 

 ݕ
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Pa
rt D

: A
re the solutio

ns to the gra
p

h a
b

ove d
iscrete o

r co
ntinuo

us? 
Exp

la
in yo

ur a
nsw

er. 
     4. 

D
em

a
rcus’ w

orko
ut p

la
ylist consists o

f cla
ssic ro

ck so
ng

s a
nd

 ra
p

 song
s.  

H
is p

la
ylist conta

ins a
 to

ta
l o

f 47 song
s.   

 W
hich o

f the follo
w

ing
 sta

tem
ents rep

resent the num
b

er o
f cla

ssic ro
ck 

a
nd

 ra
p

 so
ng

s on D
em

a
rcus’ p

la
ylist? Select a

ll tha
t a

p
p

ly. 
 
�

 𝑥𝑥
+

ݕ
=

47 
�

 24 a
nd

 24 
�

 43 a
nd

 4 
�

 𝑥𝑥
=

ݕ
+

47 
�

ݕ 
=

−
𝑥𝑥

+
47 

�
 13 a

nd
 34 

 5. 
D

eb
a

hni is m
oving b

o
xes into

 her new
 ho

use.  She is a
b

le to
 m

ove 17 
b

o
xes p

er hour. She is only a
b

le to m
o

ve the sm
a

ll a
nd

 m
ed

ium
 size b

o
xes.   

 Pa
rt A

: D
efine tw

o va
ria

b
les a

nd
 crea

te a
n eq

ua
tio

n to rep
resent the 

situa
tio

n. 
 V

a
ria

b
le 1: 

 V
a

ria
b

le 2:  
 Eq

ua
tio

n:   
         

Pa
rt B: W

ha
t a

re three p
o

ssib
le co

m
b

ina
tions o

f num
b

ers tha
t w

ill sa
tisfy 

the situa
tio

n? 
     Pa

rt C
: Is this a

n exa
m

p
le o

f a
 d

iscrete or continuous function? 
 

 
     6. 

M
r. M

a
yntz’s m

a
th cla

ss is m
a

d
e up

 o
f 29 stud

ents. So
m

e o
f the stud

ents 
a

re m
a

le a
nd

 so
m

e a
re fem

a
le.   

 W
hich o

f the follo
w

ing
 sta

tem
ents rep

resent the num
b

er o
f m

a
les a

nd
 

fem
a

les in M
r. M

a
yntz’s cla

ss? Select a
ll tha

t a
p

p
ly. 

 
�

 23.5 m
a

les a
nd

 5.5 fem
a

les 
�

 𝑥𝑥
+

ݕ
=

29 
�

 12 m
a

les a
nd

 17 fem
a

les 
�

 𝑥𝑥
=

ݕ
−

29 
�

ݕ 
=

−
𝑥𝑥

−
29 

 
 

 
 

 


